01.* IWA = {x:x? —7x+ 12 = 0} 92 B = {x:x% — 10x + 24 = 0} T, ©@ A — B G4 W (FFH?

02.

03.*

04.

05.

06.

07.

"

[N.B: * o (neqt eteta s@re rasia]

(a) {4} (b) {3} (c) {6} (d) {4, 6} (e) {}
ANHH: (b); A—B = {3,4} — {6,4} = {3}
—8 — 6V —1-93 I @07

(a) 1-3v2 (b) £(1 - 3v2) (c) 1-3v-2 (d) (1 -3v-1) (e) £(1 +3vV-1)

8
ANYE: z = —8 — 6V—1 T, |z| = 10, Argz = —n+tan‘13 6 -0
222 = +[]z] . (cos 2 + isin=E) = (1 — 3i)
AN ¥d:ax+by=0,by+cz=0,cz+ax=0
(@)x=y=z=0 b)x=0,y=-b,z=c
d

Il

C)x=y=z (d)x=ay=-az=0

2
e)x=1y=1z=—-1

a

AATYIN: (a); All the straight lines pass through origin.
A=2i+2]+k 8B =21+ 10] — 11k a1 *if3® Ao ToF o7 9FF (39 (FH?

1 £ 7 3 4 2 g
(2) = (21 + 3] + 4K) (b) = (2i + 3] + 4K)

4 2 - = 1 r: 2 M 1 - 2 1.
(€) 7 (41 + 3] + 2k) (d) E(““ +3j+2k) (e) e (—4i + 3] — 4k)
TAYE: (d); A =21+ 2]+ ke B =21+ 10— 11k A x B = =321 + 24] + 16k
. . AxB _L A% -
;. Y AT (SFF = g~ T A3+ 2k)
lim —=— 93 I @FHB?
X=+0 X

1 1 1

(a) 1 (b) O (€3 - (d) 5 (e) -
T4 (e); Performing La Hospital three times. .

Hﬁy=sin*x'§ﬂ,‘ﬁﬁ?nﬂﬁﬂﬁ@ﬁﬁ?
2

(a) = (b) = (c) =X (d) —= (e)

1-x2

TAAYE: (C); y =sin'x;y, =

X LY 1-x

1 _
V1-x2' Y2 (1-x2)J1-x2" ¥2 X

4 {51 I 7% AB ©GR 6&W 53kg @32 1 A @ B Rrs Yfoa Som sy a1 A 7] e 1.5 bRy vem

T2{ 151kg SEHA GF6 &1 wieita Y0arE o i o 519 21eea?

(@) (120.87and 83.12)kg (b) (125.87 and 80.10)kg

(c) (115.87 and 85.15)kg (d) (120 and 85)kg (e) (125 and 90)kg
: : _ 53 1.5

ANIYE: (a); AC= 1.5+ Q.S X o = 1.63 metre . C

A B
A
s pressure on A = E?:-E X 204 = 120.87 kg l I W2
P

and pressure on B = 83.13 kg

YP+W

g @ - é KUET, CUET, RUET 2 8 FNIHTd
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08.* 3cm ERMFB ABCD 936 I+f W32 E '8 F IAGF AB @ BC 97 NYIfI7 | EBFD bOSI&d CHage 4y 34

D C
F
Al——Ip
(a) 2.25 sq cm (b) 3sqcm (C) 4 sqcm (d) 4.5 sq cm (e) 6sqcm
T (d); | |EBFD =| |ABCD — ADCF — AAED =3 X 3 —-Xx 3 X 15 ->X 3 X L5 = 4.5 sq.cm
09.* A8 B G5 T [(A° U BE) — A]° =2 |
(a) A (b) B (C)AUB (dANB (e) None

ANYE: (a); [(A° UBC) — Al = [(ANnB)¢ - Al =[AC]€ = A

10. wfwp=[% “Plawpxq=[’]w o= " Q v

2 16 -2 -16 2
@ [ ] o[ 3]  ©Is -2 @[75° o<  (e)None
AMYE: (a); Pisa2 X 2 matrix & P X Qisa 2 X 1 matrix. .. The dimention of Q will be 2 x 1.

eave [§] ~po=[4, [ =[425%
4x — 6y

~ By the condition, [—-2}: + 8y

[g] - 4x — 6y = 5........(1); —2x + 8y = 0........(ii)

Sloving (i) & (i) weget,x =2; y=0.5 =~ Q = [025]

11, #ITS W FIHAE (O 8 ([(8 97 f(x) = V9 — x2 [Ans: a]
(a) [-3,31,[0,3] (b)[0,3],[3,-3] (c)[3,-3],[0,—3] (d)[-3,0],[3.0] (e) None
12, (3,—-1) 8 (4, —2) RA7a0a AL @A x SCHF AL TS (F1 T FAI?

(a) 30° (b) 75° (c) 105° (d) 135° (e) 150°
SAYE: (d); tan® = + ——° =41, 0 =135°45°

13. ﬂﬁ0°<9{180°w,m‘/2+\12 + /e wee e + 2(1 + c0sB) =7 (n 7T 2)

0 0 0 0 0
(a) 2 cos — (b) 2 cos — (C) 2 cos 1 (d) 2 cnsn? (e) 2 cos =

AHYI: (b); When number of ‘2 is one then, \/2(1 + cos8) = ZEDS%

14.  cos(nvx — 4) cos(mvx) = 1 93 T T4 “e IQ?
(a) 0 (b) 1 (c) 2 (d) > 2 (e) None
AEE: (b); Vx — 4 @3 V/x TS PorelR (IS A1 e e 34|
& X @R (x — 4) TSAIE 4 T O @3 IRAT 20O TR | QAT x = 4 FER (I Q% 1S %79
- ©&d- (b) T GG FIIYI |

15. @M fagres o\t ATy Ry 22.5° 8 112.5° 932 fapres Twer h T ofil 3e7?

(@h (b) 2h COF (d) % (€) None

SY: (b); ~ BC = BD — CD = h/tan22.5° — h/ tan(180° — 112.5°) = 2h

- Wy e




CTTTTR ) Gy (0 S

16. E [tan™2(cot x) + cot™ l(tan x)] =?

(@) 0 (b) — (c) 1 (d) 2 (e) -

a 1 1 —cosec’x  sec’x [ _ ] —2sec’x
HAATYI: (E) {tan (cotx) + cot™*(tanx)} = reotx " Temanzx |BRX = | =—5— = -2
17. [a*" .a ".axdx =7
X ax E;H.x aﬂﬂx
a —

. . = ad* . — a®" a® X . ad” a"‘: X — dy _ ad”
AHYE: (d); Let,y = a* ~dy =a* .lna.a®.lna.a*.Ina.dx - [a®" . dx = I(lna)3 = te

18. e ] it T verie <83 @ S = 6 — 2t + 3t° A t = 1sec A9 IFI G T A7
(a) 12 (b) 16 (c) 18 (d) 20 (e) None
wmﬂ:(c);u=§= —2+9t% »a=18t=18(t = 1)

19. Lt (Vx+vx—v&)=?
(a) o (b) 0 (C) e (d) 0.5 (e) None
d);Jx+ﬁ—ﬁ=\jx(l+%)—ﬁ=ﬂ(l+é)%—*v’§

1 1 1 .
_ \E(l +1Ly ) — Vx = = [higher terms are zero, as x - o]

20. fnl e™* dx =?

@ xS o PR I T 3 o
THIHT: (D), fn e = -rnl (1 - x° +§2_T B :;_!+ ---)dx - (1 _§+ 5:21 - ?:3! + ) = ::ﬂ {z{k_:i:k!
21. :—:+§—2=1%ﬂgmm@ﬁﬁ=‘f‘ﬂw| [Ans: b]
(a) ma? (b) Ttab (c) zab (d) ab (e) None
22. A, B 8 C (587 T 53 b wdaz 7ez? |Ans: c]
@Ax(EBxC (bD)AExD (c) A. (B.C) (d)A+(@ExC) (e)AB+E.0O
23. D-c:]x—a]{pﬂﬁxﬂﬁWWﬁ‘fﬂWltﬂ%aWWﬁﬂmﬂﬁ piﬂﬁiﬁ"wmﬂ'ﬂl
(@) (@a—p,a) U (a,a+p) (b)a—p<x<a (c)a<x<a+p
(da—p<x<a+p (e) (a,p—a)u (a+p,a)
TAHE: (a); 0 <x—a<p=>a<x<a+p ~(aa+p) :

U, 0<a—x<p=>-a<-x<p—-a=a—-p<x<a - (a—p,a)
24, A=;*_':jﬂdﬁm:ra,h,cﬂdwwﬁaﬂﬂmawmw| c > b T A 9T WGTTS 6 =2

(a) 0 <8 <90° (D) 90° < 8 < 180° (c) 180° < 8 < 270°
(d) 270° < B < 360° (e) —90° < 8 < 0°
Y (b); Shorteut: leta=1,b=1,c=2,d=1

1+1

 arg(A) = arg (5 +1) = arg (22) = 97.125° . 90° < 6 < 180°
25. loge(1 +1) 97 54ifss Afds T @WG?
(a)ilug32+gi {b}2]uge2+fi (c)%lugez-;i

(d) %lnge 2 + (21*1 + %) mi where n is an integer (e) %lnge 2 + (n + 41) i where n is an integer

ANYE: (d); loge(1 +1i) = In (\E iz +20m) ) = %lnz + it G-i- Zn)
R | > |
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26. Toa R (—2a) g Fzeqs 972

|Ans: e]
14 a%? —b? 2ab —2b
2ab 1 —a? + b? 2a
2b —2a 1 —a* —b?
(a) (1 —a*) — b%(4 — b?) (b) 2a(1 + a? + b?)
(c) (1 + a% + b?)3 (dy (1 +a*+b%) (e) —2a(1 +a? + b?)

27. B ANY o I A 9B Aworea So W ST a6 I8 S AN P 3= &t} a fga ardt 7
SR TSI G TR Q IT (AT IS BB 52 70 724 0 < a < > T fe5a FHMG Fe1? [Ans: ]

(a) P>Q (b)P=Q (c)P<Q (d) P=Qtana () Q =Ptana
28. (—4.,6) 8 (2,8) 777 1257 Fart @A Tof wiE® Ay-fass @ wiwad {6 39| [Ans: ]
(a)y=%x (b) y = 3x (C)y =-3x+ 4 (d)x=3y+7 (e) None

AAYIH: (C); 51 = — (E;f’)_l = -3

244 :
1, (_4;2,5;'5) 41, (=1,7) ﬁﬁvrrﬁh wYy—=7=-3x+1)=>y=-3x+4
29. nﬂﬂiﬁ‘ﬁﬂwmﬁ1Uﬁﬁﬁm,'ﬂ1ﬂ5fﬁmﬂtﬂﬁ{ﬂﬁ55ﬁ?mﬁﬁﬂmltﬂﬂ%"lﬁ’lﬁ%ﬁﬁﬁﬁ
anwwzﬁm%@aﬁﬁm:ﬁm@rwﬁm@iﬁmwmﬁmwmmm
@16 7 [ Fare “iraeE?
(a) 50 (b) 100 (c) 150 (d) 200 | (e) 50
T (d); B2 = °C, X 5C, + 5C3 x 5C, + 5C, x 5,

30. aFEA TIRE v BT @t 9B e Bifetear u fRfS/ T et eRifEe s 7t e =1ee =i fice s w09
TS TMATTF IS AT @ Fo7?

(a) Ju2 + vZ — 2uv cos (sin‘1 E) (b) Juz + v2 + 2uv cos (sin‘1 E)

v v

(c) Juz + vZ — 2uv cos (tan‘l -1-') (d) Juz + v% 4+ 2uvsin (sin“1 E)

L v

(e) Juz + vZ — 2uvsin (sin"‘lE)

v

[Ans: d]

AYE: (d); Mg (3% I ©AILH, ucos0°® + veosa = 0 = cosa = (-— %)

VR = /u? + v2 + 3uv cos(180 — a)

u u
= \Ju? + v2 — 2uv cosa = Juz + v2 + Zuv.; = Juz + vZ + 2uv sin (sin‘l—)
%

e

31, IFEH BIAE OF MG S = 7 + 20t AT BITS e a7 | 3 ARG = O SN ST 77y a9 2l ot

FO I? [Ans: e]
(a) 0.522km & 20 ms~? (b) 52.2 km & 200ms !
(c) 0.052km & 2ms™1 (d) 5.22km & 20ms ™1 (e) None
AIY: (); t = 3 X 60 = 180 sec: s =2ix 1802 + 20 x 180 = 19800m
32. 3o o7 wfea fifveea Fo@ ndy 20em T, W3 2sa Gl @ T2
(a) 3.49 X 10~ *ms™! | (b) 9.34 x 10~*ms™!
(c) 394 x 10 3ms™! (d) 8.34 x 10™*ms™?! (e) None
AAYE: (a); v = (2?") r = 502:50 X2=349x%x10"*

0y s g
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33. Wb 2EAGA HEFHER B1AMCE 5.2 X 1071 m IJFATER @6 JBFA #1te 2.18 X 10°ms ™! @ 2mfHe 3|

2ERAEE 99 9.1 X 1073 kg T @UYA I TH 97 [Ans: b]
(a) 3.82x 107°N (b)8.32x10°8N (c)3.82x10"°N (d)8.32x10"°N (e) None
JANYA: F = m:r

34. «3fo oA fFa ¢ i BfSq Siger Eires U 86dB W92 84dB 1 Gtvd FAfIfers *Itar Siget Gites $97?
oI Oigel [, = 107 12Wm™2) [Ans: d]
(a) 85 dB (b) 87 dB (c) 89 dB (d) 88dB - (e) None

TR 1 = 15(10%¢ + 10%4) = B = 10log— = 88.12 dB = 88 dB
(1]

35. 10kg SFq o8 &I 999 T, I rOCAF 94T 78N?
(a) 2.2ms™? (b) 2.5ms™2 (c) 3.0ms™? (d) 1.5ms™2 (e) None

HAAYH: (e);a = 9.8 — E = 2ms ™2

36. R 4 20O T 620 km Tt A G FiEW Tz +RAT7 vifkfie T wefie @l eftfid Fa? Gred
TR g = 9.8 ms~2 @32 #jfAF APNE R = 6380km |
(a) 4.55kms™?! (b) 7.50kms ™! (c) 5.75 kms™! (d) 5.57kms™?! (e) None

. " g gR? — -
TqY: (b); v = ’ﬁ = 7.50 kms

37. GG A G ARG 3.5 X 1071%m 932 &fS T GIFBIAGIR Sa 727 2.69 x 101° | T3 G TFAL TS 7?
(@) 242x10®m (b)) 242x10™®m (c) 422x10®m (d) 422x 107®*m (e) None

HAEE: (a); A = —— = 2.42 X 10~8m [QATH FEEACR 7@ I975S AR ]

nd2n
38. Wb @of ATHAGE 7ifete 90T 5°C @2 &% AT 99°C #i1F vy | ATHRGRIT 52°C N et FIE==20 &
AT SN FS?
(a) 50°F (b) 90°F (c) 100°F (d) 122°F (e) None
STAA: (d);—— = =— Or, F = 122°F

39.* «3fb BIrBa AIfea rod cvama 0.4cm? | @fb 3000K SRR SITe veitR | [ifeqs *fex g7 7e?
(0 =57 x1078Wm™2K™)
(a) 418.68 W (b) 148.68 W (c) 184.68 W (d) 418.96 W (e) None -
ANI4E: (c); E = oAT* = 184.68W

40. 3 T 2few I~ 75 @ I9% g7 0y IS A0 93 TFe! F97?

(a) 61.28% (b) 62.18% (c) 26.18% (d) 26.81% (e) None
TG (d); =1 - = 26.81%
41. 60kg SEF GFEH @S 2Af6f 15 cm B 50 6 Fif% 20sec @ TIT® “tA | EFHT ST T2 [Ans: d]
(a) 0.396 HP (b) 0.496 HP (c) 0.596 HP (d) 0.296 PH (€) None
42. wfb g wfowdE e W AT 9.8 8 9.78ms 2 XA, & {2 T G (IEAEE CTHra =14 T© Ta?
(a) 0.005m (b) 0.003m (c) 0.001m (d) 0.004m (€) None

ANYE: (e); T = ZHJE; L, — L, = 2222 = 0.002m

e

43. 1 cm? a3ty A2 ONE OEE G e w1 F90e F© I AT 63? [Y = 2 X 101'N/m?] [Ans: b]
(a) 107N (b) 2 x 107N (c) 3 x 107N (d) 4 x 10N (€) None |

44 * Q0 @7 1000 FTHF (M TS AENTS 75 kmh ™! @0 Fa @Irer™ Mte Sa[ 20| @Ire E06 *twa 1%
O AW A7 w9 @5 = 33000cms ™ | [Ans: a]

(a) 1067.37 Hz (b) 1607.37 Hz (c) 1670.37 Hz (d) 1706.37 Hz (e) None

N EDE ¢ | ST NN




45.

46.

47.

48.

49,

50.

o1.

92.

53.

o4.

95.

56.

-' Wy e g

(a) 0.08Q (b) 0. 01 0 (c) 0.10 Q (d) 1.0Q (€) 0.11 Q

STAIY: (C); el 3fd = —=— = 1000 -. AT @Y = —— = 0.1001001Q
(P T B-OIITHCA PTG I 35.76T @2 [ 450 =@, & B B-GIFCHET T FS?
(@) 7.57uT (b) 5.06uT (c) 57.05uT (d) 50.57uT (€) None

HHTYI: (d); Beosa = 35.76; B = 50.57uT |
OHT5 SCIFT TR ST 45 @ 1 9T 5.0 X 10-2 CTIITT SfGe &A% 8 A (T 5 A @ “IRere 3| O W8
OfeL-515TF 67 o7

(a) 2300V (b) 2400V (c) 2500V (d) 2700V (€) None

TMYEH: (d): V = —L% = 2700V |

R 4FICs 41 TAFTH 240F, 3F € 6)F | TTACE INTS 7T T GoIT 4G TG T2 Ans: d]
(a) 0.5puF (b) 2uF (c) 3uF (d) 1uF (e) None

0.5kg St9 ¢ 0°C SR IFTFCEF 100°C SN I AIHTS TA0S TS O ATE?
(@) 1.511x10°]  (b) 15.12% 10%]  (c) 1.151 x 107] (d) 16.15x 10°]  (e) None
AFIL: (b); Q = 0.5 x 336000 + 0.5 X 100 X 4200 + 0.5 X 2268000 = 15. 12 x 10°]

(P {0 I AT @IoT eolrergfon za? [Ans: c]
(a) Ffegrome (b) sirge (c) =6 (d) taPieg (e) None

(P MG &1 I 6A — 220 Volt =12 Stz 1 60 watt @3 Fo6f 1 Fares 192 1 T2

(a) 11 (b) 22 (c) 33 (d) 18 (e) 44

6x220

" L] _v]-.._ —
WW.{b),n-—E— Py = 22

f¥a =% (A= 10 kV fTeg NI W47 T o1 9P BT FOIE @9 T 212
(a) 3.59 x10’'ms™" (b) 4.93 x 107ms~? (c) 5.93 x 107ms"! (d) 9.59 X 10’ms™?! (e) 9.93 x 10" ms™!

ATY: (c); V = fm =593 x 107ms"!

Qe A GiET>m e =i vt feben wag 50cm | fofi 2.5 D FoR 51 92T FE | TS ST =1
Wt (NS0T g FORT 29 AE?

(a) 28.78 cm (b) 29.78 cm (c) 22.22 cm (d) 23.22 cm (e) None

TATYE: (e); % - é = 2.5;% = 4.5;a = 22.22cm; distance reduced = 27.78cm

A6 SR AL 1T g 20 om | WA 2re TS Y I I8 Fioi T B @ S G e effefy
ANSHT A7

(a) 20 cm (b) 25 cm (c) 15 cm: (d) 30 cm (e) None

REICICH (I:J);E=4,v—+ 4u;—+2=1= y=25cm

4u u 20

a6 T ferecars efosrars V2 2t an Tew Rpfs @ w7 [Ans: a]
(a) 30° (b) 60° (c) 45° (d) 15° (e) None

A Em
W L= Smgm_ ) =v2; A=60° . Om = 30°
1kg IFLF 7 *fere FoRfae a1 2 & «ifme < et qa? [Ans: e]
(a) 10.625 x 102° MeV (b) 15.625 x 102° MeV
(€) 20.625 x 102%° MeV (d) 25.625 x 10%° MeV (e) None




B U eqee 24 ; N E - KUET, CUET, RUET &Y 8 WS4

57. fersia w3Re Tatd 1.2 A 2@ 20 0 4t oot F4e FIANTE 106.66 gm FAT Tl 3 | AT ©fLR afS

TE 397
(a) 74.069 x 10° kg/C (b) 74.069 x 10°kg/C
(c) 74.069 x 10**kg/C (d) 74.069 x 10*3kg/C (e) None

TAYE: (e); z = 74.069 x 10~ °kg/c
58. A = 5]—4j+ 2k @32 B = 3i — 3 + k (53997 W30 ANE[CF AMRS 1210 I A= T2 O AT F97?

(a) V7 (b) 2v7 (c) V14 (d) 214 (e) None
FAYI: (c); CFawe = |A x B| = V14 |

59. mﬂ@‘[z.ﬁﬂml253@%@@%@?%35‘33&“@%? " [Ans: ¢]
(a) Half (b) One third (c) One fourth (d) One fifth (e) None

60. Ev-Fiffrores fooa wWRE FrelfTs S 8 BIo O Y TFH© T 97 Tor"d SEF Tl e | I STl
Seffaafow A, OE FOIS 517 T© FI? |
(a) 2.026 X 10°Nm ™2 (b) 4.12 x 10°Nm~2 (c) 8.16 X 10°Nm™*
(d) 10.026 X 10°Nm™* (e) None
FqE: (a); PV, = P,V, = 1.01325 x 2V, =P, XV, ~ P, = 2.026 X 10° Nm™

61. TS SANEA Cl, 99 r.m.s @Y —91.43°C SN CO, @9 r.m. s (T AN AI?

(@) 29.99°C (b) 19.00°C (c) 19.09°C (d) 29.09°C (e) None
AN (€); ;—1 - ;—z . T, = 19.98°C

62. I ERGA U197 (ATF Cr(24) 1S T4 | [Ans: a]
(a) [Ar]3d54s’  (b) [Ar]3d® (c) [Ar]3d® (d) [Ar]3d*4s?  (e) None

63. @ Wt SR Gha? [Ans: c]
(a) 1s22s22p®3s23p®3d?2s? (b) 1s22s22p®3s23p©3d24s?
(c) 1s22522p®3523p®3d°®4s? (d) 1s22s5%22p©3s523p®3d1°4s? (e) None

64. fTIT @FED Cra~SI Birers “mig? _ [Ans: d]
(a) Na,C,0,.2H,0 (b) H,C,0,.2H,0  (c) Na,COs4 (d) Na,S,0,,5H,0 (e) None

65. WIHACTA UFH(T SHACHF W4T 30% Fe,0; TR | 500kg SNFEF (AEF F© kg T TAW F1 I ?
(a) 1409155 kg  (b) 401.9155kg  (c) 410.9155kg  (d) 104.9155kg  (e) None
FAYE: (d); 500 kg WFE Fe,0; WMT2= 500 x 30% = 150Kg
150kg Fe,0, (UF G TeoMs T = 150 X 25585 _ 104.9155kg

2x%55.85%X3x10

66. 250mL (39 Na,C0; 99 Tt 10.6g &% Na,C0, Brge SR | G4BT xu@l (Iefibrs o 341
(a) 1.02 M (b) 0.9434 M (c) 1.25M (d) 0.204 M (e) None

10.6¢

HAY: (8); M = m‘f_fjrffle = 0.4 mole/L

1000mL/L

67. frwoe Rigwfore @Fl TRe W3 @ Reae? |Ans: b]
(a) Co &=, Cl, f[ess (b) Co &=, Cl, &&=
(c) Co 932 Cl, T2 &lFa (d) Co 93z Cl, o3 faunas (e) None

B R | | TR




68. ftwa =i Redox fafeFmr w72
(a) AgNO;(aq) + NaCl(aq) = AgCl(s) + NaNO;(aq)
(b) 2Na(s) + Cl,(g) = 2NaCl(s)

(C) CuSO,4(aq) + Fe(s) = FeS0,(aq) + Cu(s)

(d) 2Cu(NO,), —, 2Cu0(s) + 4NO, (s)

(e) None
ANIYE: (a) 2ea iy fafeman -
69.  25°C ST Hb ST 931 A>{bT*f I 15 kPa @32 40 kPa | & ST 1 (I A €32 5 (T B @3 93

S TR e s e R a9
(a) 83.35 kPa (b) 83.53 kPa (c) 35.38 kPa (d) 35.83 kPa (e) None
AAHT: (d); Pmix = Paxa + P Xg= 35.83 kP,
70. PR T4 e 54 | [Ans: b]

(a) 0.2M 10 mL.CH;COOH + 0.2M 10 mL NaOH
(b) 0.2 M 10 mL.CH;COOH + 0.1 M 10 mL NaOH
() 0.1 M 10 mL.CH;COOH + 0.2 M 10 mL NaOH
(d) 0.2 M 10mL. HCL + 0.1 M 10 mL NaOH

(e) None
71. Ni(NO3), &t 5 S *Ifess fRvye 30 A6 e vrem1 <t e weeiive s s figee o) 201?
[Ni = 58.7]
(a) 2.700 g (b) 2.730 g (c) 2.737 g (d)28¢g (e) None
FAGF: (C); n = - = X0 _  0466M = 2.737g

EF 96500x2

72. 35°COrT@l CCl, YT QF THAIEA GF-GOIA* T (TS T8 T #AE? @ ST K = 1.35 x 10—+s-1.
(@) 50 min 4 sec (b) 45 min 5 sec (c) 40 min 5sec (d) 50 min40sec  (e) None

AAYE: (a); t = %In:—_ﬂ = 3004sec = 50 min 4sec

3

73. a3 =Mt w2 [Ans: b]
[ [
(@ H— C-C —=H (b)H—C—-C-0-H
bW T
propane ethanol \.
T T
(cH—-C=C-H (A H—C-C—=C-H (e) None
ethyne | | |
H H H
ethane
* ftya A A3 ? . [Ans: d]
(a) MgsCa(SiO3), (b) MgSO0,. 7H,0 (c) KC1. MgCl,.6H,0 (d) MgS0,.KCL.3H,0 (e) None
75. fAor @@= w2 [Ans: c]
(a) Ca-salt of long-chain fatty acid (b) Mg-salt of palmitic acid
(c) Na/K salt of long-chain fatty acid (d) Al-salt of stearic acid (e) None
76. RSoMite bty 7 e IO (FAG? " |Ans: €]
(a) CH; — CH = CH — COOH (b) CH; — C,H = CH
77.* Rinman’s Green &7 [Ans: c]
(a) Fe,[Fe(CH)gl3 (b) Cu,[Fe(CN)g] (G) CoZnO, (d) Fe, 04, 3H,0 (e) None

T | |
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78. AT *&fere 0.186g 0&d @9l (ATF 0.475g AgCl *neq I & @t @I =rowar 1 Mg <4
(a) 60.0% (b) 63.1% (c) 73.1% (d) 83.1% (e) None

N4 (b): Amount of Cl = (13:5 X 0.475) g = 0.1175g ; Perecntage of Cl = “E;j:: x 100% = 63.1%

79. JIE, @IS 8 SHE aal if6® t&a @ T = 39.9%, TIWIEH = 6.75% W32 IfF Tt e wns
QifSa ey 30 1 AT S Juws Adg 9.

(a) C2H,403 (b) C;H,0 () C4HgO4 (d) C3HeO4 (e) None
AAYE: (e); Wof4s &4 = 60, FF &= Option @ W4FF S71 60 R
80. (I (SOETH AT ATFS? | [Ans: a]
" ,
A Cl X CH3 . OH Cl
@) ) @ © A (€) None
CHs CH; cl Cl CH Cl CH3 CHs;
Cl OH CH; al
81. o o fafea #f5s? [Ans: a]

LiAIH

Ni Pressure

fa
(c) (cH; — C00),Ca — CH; — CO — CHs + CaCO; (d) CH; — COOH + 3H;

(e) None
82. 25°C wrowary frea ofSe @afod e.m. f AT Fa1 Ag|AgN0,(0.08 M)||AgN05(0.001 M)|Ag
(a) 0.10115V (b) 0.11025 V (c) 0.1125V (d) 0.1250 V (e) None
R (C); Ecepy = %ln% = 0.1125V
83. 15 mL 0.15 M 1o «@fst® @ate 6 mL 0.15. M NaOH 3¢ (@15 21 267 | ©LAH Tt pH F© 29? [Ans: e]
(a) 2.584 (b) 3.584 (c) 5.584 (d) 4.584 (e) None
84. 0.5g IEFCE 2AfSTH 2.0kg NG ST 24°C (ATEF 26°C @ THS TN T | FIKCTA WEA ©191 ] 4|
(a) 301.664 k] mol™? (b) 401.664k] mol™? (c) 501.664 k] mol™!
(d) 601.664k] mol™? (e) None
A4 (b); AH = z;“;f;’;z = 401.664 KJmol™*
85. WIfGd pH T CITA (FIF A0 A Q@ I A zae Fa1 277 [Ans: c]
(a) Naand Mn (b) Zn and Na (c) Caand Mg (d) Kand Zn (e) None
86. 30°C S 8 1.5 atm b1t 15.6PCl; Rezfers 2801 T& Srewm@m K, @3 I A w1
(a) 0.374 atm (b) 1.374 atm (c) 0.0374 atm (d) 2.357 atm (e) None
AAYH: (c); PCls . PCl; + Cl,; Kp= :; Xp=0.0374
ok ofss  ofse
87. 27°C SMMIAR @32 102 kPa 51t 250 mL ftem =i <3 fada =041
(a) 17.0 gm (b) 27.16 gm (c) 11.6 gm (d) 2.16 gm (e) None
-3
Tﬁﬂ'ﬂ?{: (E), W — Iﬂleﬂﬂ;:;::;lfﬁxlﬂ |
88. 100g Na,C,0, (& affery waret wnfee Fars f& »/Ae KMnO,, ST ? [Ans: e
(a) 17.0 gm (b) 27 .16 gm (c) 37.16 gm (d) 57.16 gm (e) None
89. fAroa (@G 11B ST (25T B SETRRIE 10717 [Ans: b]

(@) (n—1)¥ns™! (b) (n — 1)d*ns? (c) (n —1)d®ns? (d) (n—1)d’ns’ (e) None

IR | | T
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90. e ffeFam Q wa W™ wF® @MB? C4Hs — €HO + H,NCH, — Q + H,0 [Ans: b]
H H
| |
(a) CﬁHE — COOH (b) CEHE —C=N- CH3 (GJ CEHE —C=N- CEHE
(d} CEbHE — CHH - CDOH (E) None

BRI

91. Choose the correct translation of the following Bangla sentence: (ST Y4 T&1 59 ToF | [Ans: b]
(a) Blessed be your face ’ (b) Blessed be your soul '
(c) Blessed be your mouth (d) Blessed be your heart
(e) None of the above

92. Choose the correct translation of the following English sentence: I would rather die than beg. |[Ans: d]
(a) ST T=CAT B¢ fowt Farar = (b) =TT 222 Waear g fommt wawar
(c) Sy Tatare o Faar = (d) SIfS q92 W20l g6 f&! Taean = (e) None

93. Choose the correct antonym of the word "cool" [Ans: a]
(a) Hot (b) Uncool (c) Worm (d) coal (e) None

94. Find out sentence with the correct from of verb of the following sentence: Had I been a king, I (help) the poor.
(a) Had I been a king, I would have helped the poor.  |Ans: a]

(b) Had I been a king, I had helped the poor.
(c) Had I been a king, I helped the poor.
(d) Had I been a king, I would helped the poor.
(e) Had I been a king, I must helped the poor.
95. Choose the right answer for conversion of the following sentence as directed: He is very weak and he cannot walk

(make is simple) [Ans: b]
(a) He is weak to walk. (b) He is too weak to walk.
(c) He 1s very weak to walk. (d) He 1s too weak to walk.
(e) He is much weak to walk.

96. Choose the correct sentence. [Ans: ¢]
(a) Weather is changing slowly. (b) Weather is changing naturally.
(c) Weather is changing day by day. (d) Weather is changing by force.
(e) Weather is changing randomly. i

97.  Select the correct change of voice of the following sentence: His conduct shocked me. |Ans: b]
(a) I was shocked by his conduct, (b) 1 was shocked at his conduct.
(c) I am shocked at his conduct. (d) I am shocked for his conduct.
(e) I was shocked for his conduct. :

98.  What kinds of noun the word "Clergy" is? [Ans: c]
(a) Proper (b) Abstract (c) Collective (d) Material (e) None

99.  Choose the correct indirect form of the following direct from of speech: The teacher said to me "don't come here."
(a) The teacher ordered me no to go there. (b) The teacher ordered me not to come here. |Ans: a]
(c) The teacher ordered me do not go there. (d) The teacher commends me not to go there.
(e) None

100. Read the passage carefully and choose the right answer for the question followed.
Strategy is an appropriate work to use for your approach the examination on the day. It has been said that 50% of
your chances of success relate to your examination skill rather than to your subject knowledge. So check and double
check your exam dates and times. Check what you are allowed and what you are not allowed to take in with you and
have these ready the day before.

Question: What should be your strategy? [Ans: b]
(a) Plan the exam answers (b) Plan about the resources you need
(c) Read the books in the exam hall (d) Memorize important question answer

(e) Ask someone about your approach
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